EduSahara™ Worksheet

1. What fraction of the figure is shaded?

M) = () = (i) — ()
| 49 11 49 11 1\

7
2. Express§ as a decimal correct to 1 decimal places

(i) 2.4 (i) 2.5 (i) 2.1 (iv) 2.2 (v) 2.3

3. Multiply 8.09 with 10000
(i) 809000 (ii) 809 (iii) 8090 (iv) 80900 (v) 8090000

4. The whole number part of the decimal number 414.295 is

(i) 414 (ii) 295 (iii) 4142 (iv) 424 (v) 41

Write the decimal number of the expanded form :

7 8
T+ — 4+ —
10 100

(i) 7.078 (ii) 7.78 (iii)) 0.778 (iv) 7.0078 (v) 0.0778

6. 1491.4 +
(i) 27.3 (i) 31.3 (iii) 30.3

= 50.9
(iv) 28.3 (v) 29.3

(iii) E
5

(iv) -
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8. What fraction of the figure is shaded?

(i)

49

L3
(i) (iii)

47

(V)

5

49

9. Write "eight hundred and seventy two point three eight six five" as decimal number

10.

11.

12.

13.

14.

15.

16.

17.

18.

(i) 873.3865 (ii) 872.3865
20.57 =
. 2057 . 2057
(i) 2057 (ii) (iii)
100 10000

(iii) 872.00387

2057

(iv)

10

(iv) 872.03865

2057
1000

The decimal part of the decimal number 6479.2818 is
(i) 2818

(ii) 6489 (iii) 6479 (iv) 64792

1+4.05=

(i) 7.05

(ii) 4.05 (iii)

The value of 10.02 + 2.5 is

(i) 12.720 (ii) 12.620

(iii)

5.05

Which of the following is true?

(i) 0.009+0.006=0.003

(if)

(v) 0.009+1.000=-0.991

13

19 -

(i)

6
10

1

101

(i) 4 (iii)

103

(iv)

(iv)

3.05

12.320 (iv)

(v) 6.05

12.520

Write the decimal number of the expanded form :

2+

6
10

(i) 0.026

(ii) 2.006

(iii)

2.06 (iv) 0.26 (v)

2.6

(v) 647

(v)

0.008+0.002=0.000016

(v) 882.3865

12.420

(iii)

0.009+0.007=0.002

Find the number of decimal places in the decimal humber 3.0004 is

1 (iii) 4 (iv)

(i)

3

(if)

7

(v)

5

Which of the following is a decimal fraction?

(i)

7
15
8

(i) 20 >
i T

(iii)

14

8

(iv) -

(v)

13

(iv)

0.008+0.001=0.009



19. Which of the following pairs are like fractions?
(0 2 13 (i) 3 8 (i) 1 (iv) 21 W) 4 13
i , i , iii , iv , v ,
13 21 12 12 27 52 13 16
20. The value of 65.63 + 56.2 is

(i) 121.730 (ii) 121.830 (iii)) 121.930 (iv) 122.030 (v) 121.630

8
21. The reciprocal of 5 is

(')(13) () (—) (i) > (')15 ()25
i) (- i iii iv %
8 8 8 8 8
. . 1.
22. The equivalent fraction of 5 is
(i) ’ (ii) ° (iii) 8 (iv) 8 (v) o
i ii iii iv %
35 35 36 34 34
23. Which of the following is a unit fraction?
(i) : (ii) 410 (iif) H (iv) 20 (v) 12 2
i ii - i) - iv) - v -
10 11 13 3 19
24. 7.6 =
(i) 76 (ii) (iii) 19 (iv) 38 (v) 760
250 5
19
25. 9 + =
7

(i) 3 (i) 03 (iii) (iv) (V)
19 19 19 17



Assignment Key

1) (i) 2) (v) 3) (iv) 4) (i) 5) (ii) 6) (v)
7) (iv) 8) (iv) 9) (ii) 10) (ii) 11) (i) 12) (iii)
13) (iv) 14) (iv) 15) (iv) 16) (v) 17) (iii) 18) (iv)
19) (ii) 20) (ii) 21) (iii) 22) (i) 23) (i) 24) (iv)
25) (i)
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